

1 $\lim_{n \rightarrow 2} \frac{n^2 - 4}{n^2 + an + b} = -\infty \Rightarrow (n-2)^2 = n^2 + an + b = n^2 - 4n + 4 \Rightarrow \begin{cases} a = -4 \\ b = 4 \end{cases} \Rightarrow \boxed{a+b=0}$ از اینجا می بینیم که در صورتی که $n=2$ هم علامت است پس خارج ریشه مضاعف داشته است.

2 $\lim_{n \rightarrow (\sqrt[3]{4})} \frac{n}{n^2 + an + b} = +\infty \Rightarrow (n - \sqrt[3]{4})^2 = n^2 + an + b = n^2 - 2\sqrt[3]{4}n + \sqrt[3]{16} \Rightarrow \begin{cases} a = -2\sqrt[3]{4} \\ b = \sqrt[3]{16} \end{cases} \Rightarrow \left[\frac{b}{a}\right] = \left[\frac{\sqrt[3]{16}}{-2\sqrt[3]{4}}\right] = \boxed{-1}$

3 $\lim_{n \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{[n] + a}{\left|\frac{1}{\sqrt{2}}n\right| + a} = \lim_{n \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{a-1}{\frac{1}{\sqrt{2}} + a} = -\infty \Rightarrow \begin{cases} \frac{1}{\sqrt{2}} + a + 0 = 0 \Rightarrow a = -\frac{1}{\sqrt{2}} \\ -(\frac{1}{\sqrt{2}} + a) + a = 0 \Rightarrow -\frac{1}{\sqrt{2}} \end{cases} \Rightarrow \boxed{a} = \boxed{-1}$

4 $\lim_{n \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{1/n - [-\frac{1}{n^2}]}{1/n + [\frac{1}{n^2}]} = \lim_{n \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{-n - (-1)}{1/n + (1/n)} = \boxed{\frac{1}{2}}$

5 $\lim_{n \rightarrow 1^+} \frac{n^2 - 1}{n^2 - [n^2]} = \lim_{n \rightarrow 1^+} \frac{n^2 - 1}{n^2 - n} \stackrel{0}{=} \lim_{n \rightarrow 1^+} \frac{(n-1)(n+1)}{(n-1)(n+1+1)} = \boxed{\frac{1}{2}}$

6 $\lim_{n \rightarrow -1} \frac{n^2 + 1}{1 + \sqrt[3]{n}} \stackrel{0}{=} \lim_{n \rightarrow -1} \frac{(\sqrt[3]{n+1})(\sqrt[3]{n+1})(\sqrt[3]{n+1})(n+1)}{(1 + \sqrt[3]{n})} = \boxed{-12}$

7 $\lim_{n \rightarrow 0^+} \frac{\sqrt{1+n} - \sqrt{1-n}}{\sqrt{1-\cos n}} \stackrel{0}{=} \lim_{n \rightarrow 0^+} \frac{\sqrt{1+n} - \sqrt{1-n}}{\sqrt{1-(1-\frac{n^2}{2})}} \times \frac{\sqrt{1+n} + \sqrt{1-n}}{\sqrt{1+n} + \sqrt{1-n}} = \lim_{n \rightarrow 0^+} \frac{n}{\frac{n^2}{2}} = \lim_{n \rightarrow 0^+} \frac{2}{n} = \boxed{-2}$

8 $\lim_{n \rightarrow 0} \frac{K + \cos(\sqrt{n})}{Kn^2} \stackrel{0}{=} \lim_{n \rightarrow 0} \frac{K + \cos(\sqrt{n})}{Kn^2} = K + \cos(\sqrt{n}(0)) = 0 = K + 1 \Rightarrow \boxed{K = -1}$
 $\lim_{n \rightarrow 0} \frac{-1 + \cos(\sqrt{n})}{-n^2} \stackrel{0}{=} \lim_{n \rightarrow 0} \frac{-1 + (1 - \frac{n}{2})}{-n^2} = \lim_{n \rightarrow 0} \frac{-\frac{n}{2}}{-n^2} = \frac{1}{n} = \infty \Rightarrow \boxed{a = \infty}$

9 $\lim_{n \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{\sqrt{n-1} + \sqrt{n-1}}{\sqrt{n-1}} \stackrel{0}{=} \lim_{n \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{\sqrt{n-1}}{\sqrt{n-1}} + \frac{\sqrt{n-1}}{\sqrt{n-1}} \times \frac{\sqrt{n+1}}{\sqrt{n+1}} = \lim_{n \rightarrow (\frac{1}{\sqrt{2}})^+} \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}} + 0 = \boxed{\frac{1}{\sqrt{2}}}$

10 $\lim_{n \rightarrow (-1)^-} \frac{1 - K[n]}{n^2 - 1} = \begin{cases} \lim_{n \rightarrow (-1)^-} \frac{1 - K(-1)}{0^-} = -\infty \Rightarrow 1 + K > 0 \Rightarrow K > -1 \\ \lim_{n \rightarrow (-1)^-} \frac{1 - K(-1)}{0^+} = -\infty \Rightarrow 1 + K < 0 \Rightarrow K < -1 \end{cases} \Rightarrow -1 < K < -\frac{1}{2} \Rightarrow \begin{cases} -1 < K < -\frac{1}{2} \\ -1 < \cos K < 0 \end{cases} \Rightarrow x < 0, y < 0 \Rightarrow \boxed{\text{محدود نیست}}$